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Select the correct answer ° 1x5=5
(@ Hemocyanin contains
() magnesium
(ij) iron
(i) copper
97/ (iv) zinc
623 ( Turn over )



(b)

(c)

(@)

(e)

P7[623

(2)

';‘he DNA and RNA helices are stabilized
y

() Mg2+
(W) Fe2*
(i) Ca2+
() cy2+

‘:.’hlch of the following materials is 1ot
sed as binders in TLC?

() Plaster of Paris
(W Starch

(@) Silicy gel

(iv) Al of the aboye

Whi
Ich of the following is used t°

decoloun'se
an .
Minera] oilg? @ deodorize vegetable and

] Kaoljnite
% Montmorifiopyy,
() Laponite

(iv) None of the

above

Vvhk&l [o)
f

Ceramicgp following belongs
(1) Earthen Ware
() por(:elain
() Terg Cotta
(IU) An of the o

oV

[ | Dr
(3)
UNIT—I
y 2. (@) Answer any three questions :
[} ' J ?
() What is carbonic ax_lhyd;a:::lg
Discuss its activity 1 i\ y
organism. :
i an
(i) Discuss the role o.f sodlu::SS- :
potassium in biological pro
i i its
(i) What is hemoglobin? Discuss g
main functions. i
. : an
(iv) Explain how metal poisoning ¢ i
treated by chelation therapy-
. & 2
wing :
\ (b) Write a note on any oné of the follo
(i) cis-platin
(i) Plastocyanin
unT—II e
% Answer any three questions ° :
_covalen
\ mean | DYSBOE A
(@) What do you i
| . I tion the ¥ 1+2=3
interaction? Men &
with exampi&=:
two types o 1 Ano-
(b)) What are the advan::?egzce? Jention :
materials in modern ; o-materi i
two applications of n o Ly
b, (




(4)

c
(€ What do You mean by step-up and

(d)

(b)

(¢)

(d)

(e)

step-
ep-down syntheses of nano-materials?

N
dalme one method which follows Step-
own Procedure, 2+1’3

Chromatography to

ture of amino acids:
e f:alculated and what 1
btaineq from this value?

How is Rl
nformatior, 1s o
:ivhat s FTIR?
Write & e
absorption
applicaﬁ()ns‘

I].::;inciple behind  atomi®
Ctroscopy. Give its w0 2
Tite gp |
shg
It noteg °n the following :

) Choice

chrOm SO]Vent
(i) Pryy . O8raphy

A
117

system i

columt

Bl

0 you get fro What klnd of inforrnatiof‘ 5 4

(a)

(b)

(c)

¥ 623

€&
(5)

UNIT—IV

| S. Answer the following questions :

How is it

What is Portland cement? o

manufactured industrially?
s whiCh

d
Discuss the health hazar i

may be caused by mercury
compounds.

Or

i with
What are the hazards associated

nuclear accident?

o of the
tw 11/2)(2:3

Write short notes 0On any

following :

(i) Role of bind
paint industry

(i) Ceramics

: ints
(iii) Classification of pain

Turm 0uer)



